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TOTAL POINTS

23 / 24

QUESTION 1

6 pts

1.1  3 / 3

✓ - 0 pts Correct

   - 2 pts invalid row operation

   - 3 pts matrix is not in rref

   - 2 pts rref is not calculated

   - 1 pts dropped entry (possible typo)

   - 1 pts arithmetic error

   - 1 pts rows are in wrong order

   - 2 pts rref calculated incorrectly

1.2  3 / 3

✓ - 0 pts Correct

   - 1 pts rows in wrong order

   - 1 pts there are non-zeros above/below leading

ones

   - 1 pts leading entries aren't 1

   - 1 pts arithmetic error

QUESTION 2

2  6 / 6

✓ - 0 pts Correct

   - 1 pts Minor error in matrix

   - 2 pts Major error like flipping row and column or

row reducing A

   - 3 pts No matrix written in part a

   - 1 pts Error in row reduction

   - 2 pts Major error in row reduction, tried to find

inverse instead of solving system directly, or deduced

inconsistent

   - 3 pts No row reduction

QUESTION 3

6 pts

3.1  3 / 3

   - 2 pts Incorrect answer

   - 1 pts without doing row operations

✓ - 0 pts correct

   - 1 pts mistake answer

   - 1 pts not computed inverse

3.2  3 / 3

✓ - 0 pts Correct

   - 1 pts without rref or incorrect rref or without a

matrix with 0 row

   - 1 pts without explanation or incorrect explanation

   - 3 pts incorrect answer

QUESTION 4

4  5 / 6

   - 2 pts the derivation of the matrices for the

concrete reflection and projection is missing

   - 2 pts composition/ product and commutativity is

wrong

   - 1 pts reflection matrix computed incorrectly

   - 2 pts missing formulas for projection and reflection

   - 1 pts reflection matrix is not derived

   - 1 pts commutativity is not shown

   - 1 pts projection matrix is computed incorrectly

   - 0 pts correct

   - 0 pts perfect!

   - 0.5 pts commutativity is half shown

✓ - 1 pts projection matrix is computed incorrectly

   - 6 pts incorrect

   - 1 pts projection matrix is not stated

   - 2 pts formulas not given

   - 1 pts missing formula reflection
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